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BEH | -8 | EEE BI5IED|s2s-0/s11z%s BI5IEQ|1/6-8/315%5 BIFIEQ)|s/25-3/3158%5 BISIEQ)|4/1-0/305%5 BISIED BISIRQ| BEH BI5IED|ves-vsmgs BI5|IEQ|1/6-e/ams| EI5|FEQ)
1 = () JTA 40,800 | 42,900 20,400 50% 21,450 50% 21,450 50% 26,100 39% 26,100 36% 39%| 36,800 10% 38,500 10% 38,500 10%
2 KB =92 (FRER) JTA 34,200 | 36,400 17,100 50% 18,200 50% 18,200 50% 21,900 40% 21,900 36% 40%| 31,200 9% 32,600 10% 32,600 10%
3 a2 = {8 (FBE) JTA 27,500 | 29,600 13,750 50% 14,800 50% 14,800 50% 17,600 41% 17,600 36% 41%| 25,100 9% 26,200 11% 26,200 11%
4 RRE=RiE JTA 59,300 | 61,500 29,650 50% 30,750 50% 30,750 50% 37,950 38% 37,950 36% 38%| 51,000 14% 53,400 13% 53,400 13%
5 HER=En JTA 55,500 | 57,700 27,750 50% 28,850 50% 28,850 50% 35,500 38% 35,500 36% 38%| 47,700 14% 50,000 13% 50,000 13%
6 BRE=AXKE JTA — 53,300 f— f— 26,650 50% 26,650 50% 32,700 39% 32,700 — 39% — - 46,200 13% 46,200 13%
7 KR=FH1E JTA 48,400 | 50,600 24,200 50% 25,300 50% 25,300 50% 31,000 39% 31,000 36% 39%| 42,000 13% 43,900 13% 43,900 13%
8 I =FE (FRER) JTA 40,800 | 42,900 20,400 50% 21,450 50% 21,450 50% 26,100 39% 26,100 36% 39%| 36,700 10% 38,400 10% 38,400 10%
9 BEE= (A5 JTA 38,600 | 40,800 19,300 50% 20,400 50% 20,400 50% 24,700 39% 24,700 36% 39%| 34,800 10% 36,400 11% 36,400 11%
10 | R =48 (ARE) JTA 34,200 | 36,400 17,100 50% 18,200 50% 18,200 50% 21,900 40% 21,900 36% 40%| 30,600 11% 31,900 12% 31,900 12%
11 AR () =F”iE JTA 23,000 | 24,100 11,500 50% 12,050 50% 12,050 50% 14,700 39% 14,700 36% 39%| 19,700 14% 20,500 15% 20,500 15%
12 | AEFHE) =20 JTA/RAC| 17,500 | 18,600 8,750 50% 9,300 50% 9,300 50% 11,200 40% 11,200 36% 40%| 15,000 14% 15,700 16% 15,700 16%
13 | ARIE=Ed RAC 11,900 | 12,400 5,950 50% 6,200 50% 6,200 50% 7,600 39% 7,600 36% 39%| 10,400 13% 10,800 13% 10,800 13%
14 | $fE () =AXE JTA/RAC| 11,800 | 12,300 5,700 52% 5,700 54% 5,700 54% 7,550 39% 7,550 36% 39%| 10,200 14% 10,700 13% 10,700 13%
15 | AiE=5E JTA/RAC| 11,800 | 12,300 4,150 65% 4,300 65% 4,300 65% 5,300 57% 7,550 36% 39%| 7,150 39% 7,500 39% 7,500 39%
16 | $fE () =5k RAC 14,200 | 15,300 7,100 50% 7,650 50% 7,650 50% 9,100 41% 9,100 36% 41%| 12,900 9% 13,900 9% 13,900 9%
17 | 448 (BB =BEKE RAC 23,300 | 24,400 11,650 50% 12,200 50% 12,200 50% 14,900 39% 14,900 36% 39%| 21,200 9% 22,200 9% 22,200 9%
18 | HfE (&) =mAE RAC 24,900 | 24,900 8,700 65% 8,700 65% 8,700 65% 11,150 55% 15,950 36% 36%| 15,800 37% 15,800 37% 15,800 37%
19 | #8 (&) =JLXE RAC 24,900 | 24,900 8,700 65% 8,700 65% 8,700 65% 11,150 55% 15,950 36% 36%| 15,800 37% 15,800 37% 15,800 37%
20 | ARE=JAE RAC 8,300 8,300 2,900 65% 4,150 50% 2,900 65% 5,300 36% 5,300 36% 36%|) 5,300 36% 7,600 8% 5,300 36%
21 BEO=%EMH RAC 8,500 8,500 3,000 65% 3,000 65% 3,000 65% 3,800 55% 5,450 36% 36%| 5,450 36% 5,450 36% 5,450 36%
22 ,'11&&%) =51E RAC 31,700 | 33,400 11,100 65% 16,700 50% 11,100 67% 20,300 39% 20,300 36% 39%|) 19,000 40% 28,400 15% 19,900 40%
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JTA/RAC

ETVRRELR eET X6 -
24T
- A L% W% WX A 13X W% WX NEREHSI ARAHAE
EE  BBIRD| EHE H5IRO(3/25-31 FFIRQD|7/20-8/2 FIFIRQ| 8/3-16 FFIRQ| FEH HEIRDO| FH H51RQ|3/25-31 HFIRQD|7/20-8/2 FIFIRQD)| 8/3-16 HFIRQD)|s2s5-0/31%s FIFIEQ|e/1-030%s BFIED BFIRQ| MM I BFIRO| ML B5IRO|vsomss BIBIRQ|vewnns BI51EQ
1 ms=h (RE) JTA__| 36,300 11%| 38,500 10%| 42,400 %[ 42,400 %[ 42,400 %[ 35,500 13%| 38,500 10%| 42,400 %[ 42,400 %[ 42,400 % 26,100 39% 26,100 36% 39%| 21,150 48%| 24,300 40%| 25,600 40%| 25,600
| 2 | KBg=3 JTA__| 30,100 12%| 32,600 10%| 35900 %| 35,900 %| 35,900 %| 29,000 15%| 32,600 10%| 35900 %| 35,900 %|_35,900 % 21,900 40% 21,900 36% 40%|_18,150 47%|_20,400 40%| 21,700 40%| 21,700
3] JTA | 23,800 13%| 26,200 11%] 29,100 %[ 29,100 %[ 29,100 %[ 22,500 18%| 26,200 11%] 29,100 %[ 29,100 %[ 29,100 % 17,600 41% 17,600 36% 41%| 14,950 46%| 16,400 40%| 17,700 40%[ 17,700
4 JTA__| 50,500 15%| 53,400 13%| 61,000 %|_61,000 %|_61,000 %| 42,850 28%| 53,400 13%| 61,000 %|_61,000 %|_61,000 % 37,950 38% 37,950 36% 38%| 29,700 50%| 35,350 40%| 36,650 40%| 36,650
5 JTA | 47,200 15%| 50,000 13%] 57,200 %[ 57,200 %[ 57,200 %[ 40,400 27%| 50,000 13%| 57,200 %[ 57,200 %[ 57,200 % 35500 38% 35500 36% 38%| 27,900 50%| 33,100 40%| 34,400 40%| 34,400
6 JTA — — | 46.200 13%| 52,800 %| 52,800 %| 52,800 % —  — | 46,200 13%| 52,800 %| 52,800 %| 52,800 % 32,700 39% 32700 — 39% — — — — | 31.800 40%| 31,800
7 JTA | 41,500 14%| 43,900 13%| 50,100 %[ 50,100 %[ 50,100 %[ 35,500 27%| 43,900 13%| 50,100 %[ 50,100 %[ 50,100 % 31,000 39% 31,000 36% 39% 49%| 28,850 40%] 30,150 40%[ 30,150
] JTA__| 36,200 11%| 38,400 10%| 42,400 %|_42.400 %|_42.400 %| 33,400 18%| 38,400 10%| 42,400 %|_42.400 %|_42.400 % 26,100 39% 26,100 36% 39%| 21,150 48%| 24,300 40%| 25,600 40%| 25,600
| 0 [ ZHE=>9# GR#) JTA | 32,650 15%| 36,400 11%| 40,300 %[ 40,300 %[ 40,300 %[ 31,000 20%| 36,400 11%] 40,300 %[ 40,300 %[ 40,300 % 24,700 39% 24,700 36% 39%| 20,150 48%| 23,000 40%| 24,300 40%| 24,300
[ 10 | FELI= ;b (ARER) JTA__| 30,100 12%| 31,900 12%| 35900 %| 35,900 %| 35,900 %[ 27,750 19%| 31,900 12%| 35900 %| 35,900 %| 35,900 % 21,900 40% 21,900 36% 40%|_18,150 47%|_20,400 40%| 21,700 40%| 21,700
1| AR =FH1E JTA__| 19,000 17%] 20,500 15%| 23,600 %[ 20,500 15%| 23,600 %[ 17,200 25%| 20,500 15%| 23,600 %[ 20,500 15%| 23,600 % 14,700 39% 14,700 36% 39%| 12,100 47%| 13,700 40%| 14,350 40%| 14,350
2 | AEE) =2H JTA/RAC|_14.500 17%| 15700 16%| 9,900 47%|_15,700 16%| 18,100 3%| 13,200 25%| 15,700 16%| 9,800 47%|_15,700 16%| 18,100 3% 11,200 40% 11,200 36% 40%| 9,350 47%|_10,450 40%| 11,100 40%| 11,100
3| AE==d RAC 9,900 17%] 10,800 13%[ 11,900 4% 10,800 13%| 11,900 2% 8,650 27%| 10,800 13%[ 11,900 4% 10,800 13%[ 11,900 2% 7,600 39% 7,600 36% 39% 6,400 46% 7,100 40%| 7,400 40%| 7,400
4 | B GRE) =AKB |JTA/RAC| 9700 18%_10,700 13%| 11,800 4% 10,700 13%| 11,800 2% 8,600 27%| 10,700 13%| 11,800 4% 10,700 13%| 11,800 4% 7,550 39% 7,550 36% 39%_ 6.350 46% 7,000 41%| 7,350 40%| 7,350
5 E=E5E JTA/RAC| 9,700 18%| 10,700 13% 8,250 33%| 10,700 13%| 11,800 4% 8,600 27%| 10,700 13% 8250 33%| 10,700 13%| 11,800 4% 5300 57% 7,550 36% 39%|_ 6.350 46%| 7,000 41% 5150 58%| 7.350
6 B (%) =53 RAC 2,400 13%| 13,900 9%| 14,800 3 ,900 9%| 14,800 3% 12,300 13 ,900 9%| 14,800 3 ,900 9% 14,800 3% 9,100 41% 9,100 36% 41%|__ 8450 0% 8,450 0% 9,100 41%
7 #B(PE) ="EKXE [ RAC 0,700 11%] 22,200 9%[ 23,900 2% 22,200 9%| 23,900 2% 19,950 14 200 9%[ 23,900 2% 22,200 9%[ 23,900 2% 14,900 39% 14,900 36% 39%| 13,900 0% 13,900 0% 14,550 40%
8 #8 (%) =mAR RAC 2,100 11%| 22,600 9% 15,800 37%| 22,600 9% 22,600 9%[ 21,150 15%| 22,600 9% 15,800 37%| 22,600 9% 22,600 9% 11,150 55% 15,950 36% 36%| 14,800 41%| 14,800 41%| 10,350 58%
[ 19 [ il (BR®) =L K3k RAC 2,100 11%] 22,600 9%[ 15,800 37%| 22,600 15,800 600 9%| 22,600 % 11,150 55% 15,950 14,800 41%[ 10,350 58%[ 1
20 | AAE=JKAK RAC 7.100 14%| 7,600 8%| 7600 8%) 7,600 7,600 8%| 7600 8% 5,300 36% 5,300 4,950 40%| 4950 40%
21 | =A=%RM RAC 7.300 14%| 7,800 8% 5,450 36%| 7,800 5,450 36%|_ 7,800 8% 7,800 ﬁ' 3,800 55% 5,450 5,050 41%[ 3550 58%
22 | b RAC | 26,600 16%| 28,400 15%| 32,900 1%| 28,400 1%] 21,750 28,400 15%| 32,900 1% 20,300 39% 20,300 18,900 40%| 19,900 40%
X [ESRXRE-R, e EVRRE
. (BB =FE. Th. AXKE. 5. BEXE. AR, tXE. 5HE. FE=24. 5HE.
BAE=IAR, St =2%RMKRICHER
,,,,,, 9/1-9/30 _ $ARAN : 7/6-8/2. 8/17-8/31 _ #ARSI : 3/25-3/31, 8/3-8/16
LRERCBRRISEA
#ARS T - 4/1-7/5. 9/1-9/30  HARA W : 7/6-7/19. 8/17-8/31 HARSM : 3/25-3/31. 7/20-8/16
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JTA/RAC

BEtdev A ILEIT]

ZHYILAN—EI5]

X 3A-6R{EES 1R-9BEEL HAR I RO HiR HREIV

BEH B5IRO E—o8 BE5I1XQ| EEH B5IRO FE5IRQ E—H BI5IEQ| FE FEIXRO BEIXQ| T FISIFEQ wE F5IXA EE ESIEQ
1 | RRER=%#GR%H) JTA 12,500 69%| 15,000 65%] 12,500 69% 71%| 15,000 65%| 12,000 71% 72%| 15,000 65%| 14,000 66%| 16,000 63%
2 | KBr=;#48 (FB5H) JTA 12,500 63%| 15,000 59%] 12,500 63% 66%| 15,000 59%| 12,000 65% 67%| 15,000 59%| 14,000 59%| 16,000 56%
3 | 1B =4 FH) JTA 10,000 64%| 12,500 58%| 10,000 64% 66%| 12,500 58%| 12,000 56% 59%| 15,000 49%| 14,000 49%| 16,000 46%
4 | FE=%18 JTA 15,000 75%| 17,500 72%| 15,000 75% 76%| 17,500 72%| 24,000 60% 61%| 30,000 51%| 28,000 53%| 32,000 48%
5 | EE=En JTA 15,000 73%] 17,500 70%] 15,000 73% 74%| 17,500 70%| 24,000 57% 58%| 30,000 48%| 28,000 50%| 32,000 45%
6 | ER=AXE JTA — — — — — — —— | 15,000 72%| 20,000  — 62% — — — — | 26,000 51%
7 | XBR=FR1E JTA 12,500 74%| 15,000 70%| 12,500 74% 75%| 15,000 70%| 24,000 50% 53%| 30,000 41%| 28,000 42%| 32,000 37%
8 | /A =ih{E (FRFR) JTA 12,500 69%| 15,000 65% 12,500 69% 71%] 15,000 65%| 20,000 51% 53%| 25,000 42%| 20,000 51%| 25,000 42%
9 | FHE=% (FH) JTA 12,500 68%| 15,000 63%| 12,500 68% 69%| 15,000 63%| 12,000 69% 71%| 15,000 63%| 14,000 64%| 16,000 61%
10 | ml=+% GR%H) JTA 12,500 63%| 15,000 59%] 12,500 63% 66%| 15,000 59%| 12,000 65% 67%| 15,000 59%| 14,000 59%| 16,000 56%
11| 48 (5 =Fi8 JTA 10,000 57%] 10,000 59%] 10,000 57% 59%| 10,000 59%| 12,000 48% 50%| 15,000 38%| 14,000 39%| 16,000 34%
12 | GRS =2H JTA/RAC| 7,000 60% 7,000 62% 7,000 60% 62%| 7,000 62%| 12,000 31% 35%| 15,000 19%| 14,000 20%| 16,000 14%
13 | AiE=E%H RAC 7,000 41%] 7,000 44%] 7,000 41% 44%| 7,000 44%| 8,000 33% 35%| 10,000 19%| 10,000 16%| 10,000 19%
14 | H8 (T =AKE [JTA/RAC| 7,000 41%] 7,000 43%] 7,000 41% 43%] 7,000 43%| 8,000 32% 35%| 10,000 19%| 10,000 15%| 10,000 19%
15 | AiEE=5HE JTA/RAC| 7,000 | 41%| 4,900 60% 7,000 | 41%] 43%] 7,000 | 43%| 8,000 | 32% 35%] 7,000 43%| 10,000 | 15%| 10,000 | 19%
16 | 48 (BF) =5k RAC — — — — — — — — — — — — — — — — — —
17 | ih#8 (BRE) =TEKE | RAC — — — — — — — — — — — — — — — — — —
18 | ih#8 (BRER) =R KK RAC — — — — — — — — — — — — — — — — — —
19 | ih#8 (BRER) =L KK RAC — — — — — — — — — — — — — — — — — —
20 | AR=LAR RAC | — [ — | — | — [ — [ — [ — [ —= [ — [ — [ = [ — | —= [ — [ — [ — [ — | —
21 | =EH=%BH RAC — — — — — — — — — — — — — — — — — —
22 | R (ARER) =58 E RAC 12,500 61%] 12,500 63%] 12,500 61% 63%] 12,500 63%| 16,000 50% 52%] 21,000 37%| 20,000 37%| 22,000 34%

XMF=mm. BPHE=AXE. AIEE=5BEHDORACEIZILEEIHEFEHEZIS] . WELCOME TO JAPAN]. I'YOKOSO(visit) Japan Pass]. TOKINAWA Island Pass] DX E [ZHYEE Ao
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20124F3A25H ~9 A30BEFS EEX HREHEEE. HE. IEFHERS) JTA/RAG
) RIEEEISI(KA) HRIEESISINR) I5RIHE | BRARERSE | ANyFr-$E Ry BEFHEIHE | BUHTFHH
3/25-3/3138 55 | EIB1ZRQ@|4/1-9/3088 85 BIBIED BI5I1HKD)|2/25-3/31185%% | BIBIED)|4/1-9/3048%5 EIF1RD BIF1REQ T T EEE EEE EEE X5
1 | ERER=/"4 ) JTA — — — — — — — — -— -— 1,000 10,000 58,800 5,000 300 D
2 | KBR=##8 %) JTA — — — — — — — — -— -— 1,000 10,000 49,000 5,000 300 c
3 | 1ERE =+ BH) JTA — — — — — — — — — -— 1,000 10,000 38,700 5,000 300 B
4 | KR=FhiE JTA -— — -— — — — — — — — 1,000 10,000 85,600 5,000 300 D
5 | EE=EH JTA — — — — — — — — -— -— 1,000 10,000 79,800 5,000 300 D
6 | ER=AXE JTA — — — — — — — — -— -— 1,000 10,000 73,300 5,000 300 D
7 | KR=H1E JTA — — — — — — -— — -— — 1,000 10,000 71,200 5,000 300 D
8 | /MY =ih{E (FBF) JTA — — — — — — — — -— -— 1,000 10,000 58,600 5,000 300 D
9 | HEE=HEGIH) JTA — — — — — — — — — -— 1,000 10,000 55,200 5,000 300 c
10 | [ =48 (FBE) JTA — — — — — — — — -— -— 1,000 10,000 47,800 5,000 300 c
11| B RE) =Fi8 JTA — — — — — — — — -— -— 1,000 5,000 31,900 3,000 200 B
12 | HBEREH) ==& JTA/RAC|  — — — — — — — — -— -— 1,000 5,000 24,400 3,000 200 E
13 | REE=FTH RAC — — — — — — -— — -— — 1,000 5,000 16,200 3,000 200 A
14 | BB =A% |JTA/RAC| —— — — — — — — — -— -— 1,000 5,000 16,000 3,000 200 A
15 | RE=51E JTA/RAC|  — — — — — — -— — -— — 1,000 5,000 16,000 3,000 200 A
16 | BT =5 RAC — -— — — — — — — — -— — 5,000 23,200 3,000 200 A
17 | H#BREH =EXKRE | RAC — — — — — — — — — — — 5,000 39,400 3,000 200 B
18 | B RE) =FAR RAC 11,300 55% 9,700 61% 61% 5,650 77% 4,900 80% 80% — 5,000 42,200 3,000 200 B
19 | B ORE) =JdtAE RAC 11,300 55% 9,700 61% 61% 5,650 77% 4,900 80% 80% — 5,000 42,200 3,000 200 B
20 | ARE=JAH RAC 5,550 33% 3,300 60% 60% 2,800 66% 1,700 80% 80% e 3,000 12,400 3,000 200 A
21 | BEE=%EM RAC 3,950 54% 3,400 60% 60% 2,000 76% 1,700 80% 80% — 3,000 23,200 3,000 200 A
22 | HEE(REH) =5BE RAC — — — — — — — — — — ——— 5,000 45,600 3,000 200 [¢]
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JAL/JTA/JAC/RAC

FEEE
e RS BEE | B |s/25-31mms| EIF|FEQ) |1/6-s31mm5 F|F|FRQ)
RiE-HEGEH) JTA RiE-HEGEH) 9,400 59%| 16,100 33% 9,700 60%
RiE-EH JTA/RAC AiE—-EH 4,900 59% 8,200 34% 4,900 60%
hiE—SBE JTA/RAC hiE—S5HBE 4,900 58% 5,700 54% 4,900 60%
AE—HER JTA AE-HEE 40,700 31%| 41,200 33%| 41,200 33%
RiE—E JTA RiE-HEGEH) 14,500 37% 14,700 39%( 14,700 39%
JAL/JTA| H#E(RER) — =R 26,200 36%| 26,500 38% 26,500 38%
[#E () ] it 40,700 36%| 41,200 39% 41,200 39%
AiE— KK JTA TiE— KK 33,500 31%| 33,950 33%| 33,950 33%
AiE— KR JTA AiE-HEGEH) 14,500 37% 14,700 39%( 14,700 39%
JAL/JTA| H#E(RER) — KBk 19,000 44%| 19,250 47% 19,250 47%
[#E () ] it 33,500 41%| 33,950 44%| 33,950 44%
RE—ZHE JTA RiE-HEGEH) 14,500 37% 14,700 39%( 14,700 39%
JTA | B (BH) —L/EE| 24,150 37%| 24,750 39%| 24,750 39%
& () ] it 38,650 37%| 39,450 39% 39,450 39%
RiE—1ERE JTA RiE-HEGEH) 14,500 37% 14,700 39%( 14,700 39%
JTA iR (IRER) — 186 16,100 41%| 17,250 42% 17,250 42%
& () ] st 30,600 39%| 31,950 41%| 31,950 41%
=i — 48 (BRE) |JTA/RAC| =i —ibid (BhE) 11,950 32% 9,800 47% 12,550 33%
e - JTA EO—EER 38,100 31%| 38,700 33%| 38,700 33%
T — KR JTA/RAC| B —i#& () 11,000 37% 9,800 47% 11,200 40%
JAL/JTA| H#E(RER) — KBk 21,050 38%| 22,300 39%| 22,300 39%
[H#E () ] it 32,050 38%| 32,100 42%| 33,500 39%
AR E—i8 (A E) |JTA/RAC| AKX E — i (AL &) 4,900 58% 5,700 54% 4,900 60%
AKE—FHH JTA AKXE—HEH o — 35,800(x) 33%| 35,8000¢) 33%
EME—HEFRTH) | RAC | 5IE—EGH) 12,900 59%| 22,100 34%| 13,300 60%
ERE—BEXE JAC BERE—EXXE 15,750 32%| 16,150 36% 16,150 36%
BERE—fEZE JAC BERE—fEZE 18,500 31%| 18,500 36% 18,500 36%
ERE—RBFE JAC ERE—BFE 9,200 27% 9,200 27% 9,200 27%
ERE—RBAE JAC ERE—ERAE 10,200 27% 10,200 27% 10,200 27%
BERE—ERE JAC ERE—ERE 18,250 25% 18,250 25%| 18,250 25%
BEIRE— sk BER JAC BERE—HKEER 22,350 24%| 22,350 24%| 22,350 24%
ERE—5®R JAC BERE—5R 23,500 24%| 23,500 24%| 23500 24%
BERE—ERE JAC EEXEXE—ERE 6,800 28% 6,800 28% 6,800 28%
EEXE—fFZE JAC EEXE—fFZE 9,750 27% 9,750 27% 9,750 27%
BEKRKE—HKBE| JAC |EEXE—FKEH| 12450 26% 12,450 26%| 12,450 26%
BERE—FKERE| JAC BERKE—5H 8,000 59% 8,000 59% 8,000 59%
) JAC 55— idok REB 4,450 56% 4,450 56%| 4,450 56%
[55& it 12,450 58%| 12,450 58% 12,450 58%
BEKRE—5H JAC EEXE—5H 14,600 26%| 14,600 26% 14,600 26%
BEXERE—5H JAC |EBEXE—HXKRIP 9,200 45% 9,200 45% 9,200 45%
JAC HkBE— 5 5,400 46% 5,400 46% 5,400 46%
[k REB] it 14,600 46% 14,600 46%| 14,600 46%
Sk BE— 5% JAC HKBE -5 7,150 29% 7,150 29% 7,150 29%
HE B JAC HE —[Rik 9,550 22% 9,550 22% 9,550 22%
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BI5IEQ: E—VHT KA L BES ML



r #5]1/3 AB1H~4H27 JTA/RAC

SEEMEAR . 2012/2/1  ~

4/1-27
4TA 4478 447C
X B4 : 2 L
T gz B = gm | B A miE gy | BB
mam TR g W AR gz W AR g W

R CHE) =% (&) | REHR) F|_NUw04 | AIH 35800 12% 33,100 | 19% 31,900 | 22%
NUO78 | BIH 35800 | 12% 33,100 | 19% 31,900 | 22%
PN 8 (FR%) | 948 (BRFA) F| NU0s4 | 3HAT | 30,000 | 12% 28,700 | 16% 28,400 17%
12k =58 (&) [EEES NUO51 | 3HAI [ 23500 15% 22,300 | 19% 21,800 | 21%
NUO053 | 3H®iT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NUO057 | 3H®I | 23,500 | 15% 22300 | 19% 21,800 | 21%
NUO61 | 3EHIT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NU063 | 3HHI | 23,500 | 15% 22300 | 19% 21,800 | 21%
NU065 | 3H®I | 23,500 | 15% 22300 | 19% 21,800 | 21%
%8 (FF) F | _NU050 | 3HBI | 23,500 | 15% 22,300 | 19% 21,800 | 21%
NU052 | 3H®/iT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NUO54 | 3HHiT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NUO56 | 3E®iI | 23,500 | 15% 22300 | 19% 21,800 | 21%
NU060 | 3H/iT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NU062 | 3H®I | 23,500 | 15% 22300 | 19% 21,800 | 21%
RR(CPHE)=hAE |[RRCIE)F| NU071 | 3HAT | 47.200 | 20% 38,300 | 35% 36,300 | 39%
NU073 | 3HHI | 47.200 | 20% 38,300 | 35% 36,300 | 39%
RIS NU078 | 3EHI | 47.200 | 20% 38,300 | 35% 36,300 | 39%
RRCHE) =2d R CHE) ¥| NU021 | 3HBI | 44,000 | 21% 38,000 | 32% 36,000 | 35%
EEE S NU022 | 3EHI | 44,000 | 21% 38,000 | 32% 36,000 | 35%
KB (Bi7E) =R1E XBx (BH78) % | NU083 | 3HAI | 39,000 | 19% 38,100 | 21% 36,100 | 25%
RiES NUO84 | 3HHT | 39,000 | 19% 38,100 | 21% 36,100 | 25%
M= 0B GRE) MRS NUO31 | 3HAI | 31.000 | 24% 30,000 | 26% 28,100 | 31%
P#8 (GBE) ¥ | NU038 | 3HBI | 31,000 | 24% 30,000 | 26% 28,100 | 31%
[BEE (P& =#8 (B & = (P& R _NU251 | 3HAT | 32400 | 16% 30,800 | 20% 30,200 | 22%
NU253 | 3EHI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
NU255 | 3EHI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
NU257 | 3EHI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
Sh#B(FE) F | NU252 | 3HBI | 32400 | 16% 30,800 | 20% 30,200 | 22%
NU254 | 3EHI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
NU256 | 3EHiI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
NU258 | 3EHiI | 32,400 | 16% 30,800 | 20% 30,200 | 22%

el LU =348 (R ER) EIIES NUO13 | 3HAI [ 27.000 [ 21% 4/20-27.38fi 26,000 | 24% 4/20-275Efif 24,000 | 30% |4/20-275Efif
NUOi1 | 3EHT | 27,000 | 21% 26,000 | 24% 24,000 | 30%

P48 (FBER) [ _NU014 | 3EAT | 27,000 | 21% [4/20-27.:8ff 26,000 | 24% 4/20-275Efif 24,000 | 30% |4/20-275Efif
NUO16 | 3E®I | 27,000 | 21% 26,000 | 24% 24,000 | 30%
RS =R %8 (FF) F | _NU6OT | 3HBEI | 18,600 | 19% 17,000 | 26% 16,300 | 29%
NU603 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU605 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU609 | 3EHiT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU611 | 3E®T | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU613 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU615 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU619 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU623 | 3E®il | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU625 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
RIS NU600 | 3EHiI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU604 | 3EHiT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU606 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU608 | 3EHil | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU612 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU614 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU616 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU618 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NUO84 | 3HHiT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU622 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU078 | 3HHil | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU626 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU628 | 3H®I | 18,600  19% 17,000 [ 26% 16,300 | 29%
hRERB) == A8 (ABER) F [ _NUS51 | ATH | 14,300 | 18% A 13,100 [ 25% 12,600 | 28%
RAC801 | @iH | 14,300 18% Bl 13,100 [ 25% 12,600 | 28%
NU557 | @iH | 14,300 18% Bl 13,100 [ 25% 12,600 | 28%
NU559 | @iH | 14,300 | 18% Al 13,100 [ 25% 12,600 | 28%
NU561 | AiH 14,300 18% Al 13,100 [ 25% 12,600 | 28%
NU563 | @iH | 14,300 | 18% Al 13,100 [ 25% 12,600 | 28%
NU567 | AiH | 14,300 | 18% Al 13,100 [ 25% 12,600 | 28%
NU571 | @iH | 14,300 18% Al 13,100 [ 25% 12,600 | 28%
NU573 | @iH | 14,300 | 18% Bl 13,100 [ 25% 12,600 | 28%
EEES NU552 | @iH 14,300 18% Bl 13,100 [ 25% 12,600 | 28%
NU556 | @iH | 14,300 | 18% Bl 13,100 [ 25% 12,600 | 28%
NU558 | @iH | 14,300 | 18% Bl 13,100 [ 25% 12,600 | 28%
NU560 | @iH | 14,300 18% Bl 13,100 [ 25% 12,600 | 28%
NU562 | @iH | 14,300 | 18% Bl 13,100 [ 25% 12,600 | 28%
NU564 | @iH 14,300 18% il 13,100 [ 25% 12,600 | 28%
NU568 | miH | 14,300 | 18% il 13,100 [ 25% 12,600 | 28%
NU572 | @iH | 14,300 | 18% il 13,100 [ 25% 12,600 | 28%
RAC804 | @iH | 14,300 18% il 13,100 [ 25% 12,600 | 28%
BEH=fA1E EEH RAC831 | AIH | 9,600 19% Al 9500 | 20% 9400 | 21%
RAC833 | @iH | 9,600  19% Al 9,500 | 20% BIE | 9400 | 21%
RAC837 | @iH | 9,600 | 19% Al 9,500 | 20% BIE | 9400 | 21%
RIS RAC832 | @iH | 9,600 | 19% il 9,500 | 20% BIE | 9400 | 21%
RAC834 | @iH | 9,600  19% Bl 9,500 | 20% BIE | 9400 | 21%
RAC838 | AiH | 9,600 | 19% Bl 9,500 | 20% BIE | 9400 | 21%
PR (BE) =AXKE | hFE(FBE) K| RAC8T1 | AITH | 9000 | 24% Al 8800 | 25% BiH | 8600 | 27%
RAC873 | @iH | 9,000 | 24% il 83800 | 25% BIE | 8600 | 27%
RAGC875 | @iH | 9,000 | 24% il 8800 | 25% BIE | 8600 | 27%
RAC877 | ®iH | 9,000 | 24% il 8800 | 25% BIE | 8600 | 27%
RAC879 | miH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC881 | AiH | 9,000  24% Bl 8800 | 25% BIE | 8600 | 27%
AXB% [RAC872| BIH | 9000  24% Al 8800 | 25% BiH | 8600 | 27%
RAC874 | miH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC876 | miH | 9,000  24% il 8800 | 25% BIE | 8600 | 27%
RAC878 | @iH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC870 | @iH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC882 | @iH | 9,000 | 24% il 83800 | 25% BIE | 8600 | 27%
RE=51E hiER RAC807 | @iH | 9,000  24% Bl 8800  25% BIE | 8600 | 27%
E530E% [ RAC806 | AIH | 9000  24% Bl 8800  25% BIE | 8600 | 27%
PR (RE) =5 IE [ 4R (FRF) | RAC889 | ATH [26.100 | 18% Al 25100 1 21% BIE 24,100 | 24%
53E% [RACS80 | RIH | 26,100 | 18% B 25100 | 21% BIH 24100 | 24%
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EEIES EEIES EEIES
FR CRE) =94 (%) | 4 (AH) F[_NU04 - — — — —
NUO78 | -—— — — — — — — — —
PR (ARE) FE[ NUos4 | —— — — — — — — — —
FEES NUO51 — — — — — — — — —
NU053 | -—— — — — — — — — —
NU057 | -—— — — — — — — — —
NUO61 — — — — — — — — —
NU063 | -—— — — — — — — — —
NU065 | -—— — — — — — — — —
SRR (ARE) FE[_NU050 | —— — — — — — — — —
NU052 | -—— — — — — — — — —
NU054 | -—— — — — — — — — —
NU056 | -—— — — — — — — — —
NU060 | -—— — — — — — — — —
NU062 | -—— — — — — — — — —
RER(HE) =R\ |RRCHEFE| NOOTT [ — | — = — — | — [ — — | — [ —
NUO73 | -—— — — — — — — — —
AiEH NUO78 | -—— — — — — — — — —
RR(HE) =28 |[RmCHEDFE| N0o2l | — | — = — — | — [ — — | —
BhE NU022 | —— — — — — — — — —
Kbz (BAdE) =H1E | KR (BIFE) F| NU0S3 | — — — — — — — — —
RiEH NU084 | -—— — — — — — — — —
INE=7F7 (FH) A | NOO3T | — | — — | — [ — — | — [ —
SP#R(ARE) FE[ NU03s | —— — — — — — — — —
HE (P E) = # (BTIE G = (FE) H_NU251 — — — — — — — — —
NU253 | —— — — — — — — — —
NU255 | -—— — — — — — — — —
NU257 | -—— — — — — — — — —
SRER(ARE) FE[ NU252 | —— — — — — — — — —
NU254 | -—— — — — — — — — —
NU256 | -—— — — — — — — — —
NU258 | -—— — — — — — — — —
i L = b8 (A %) [FITES NUO13 | —— — — — — — — — —
NUOTT — — — — — — — — —
SR#R(ARE) FE[_NUo14 | — — — — — — — — —
NUO16 | -—— — — — — — — — —
R IE) =RE | HEFE;) F[_NU601 — — — — — — — — —
NU603 | -—— — — — — — — — —
NU605 | -—— — — — — — — — —
NU609 | -—— — — — — — — — —
NU6T1 — — — — — — — — —
NU6I3 | —— — — — — — — — —
NU615 | -—— — — — — — — — —
NU6T9 | —— — — — — — — — —
NU623 | -—— — — — — — — — —
NU625 | -—— — — — — — — — —
RIEH NU600 | -—— — — — — — — — —
NU604 | -—— — — — — — — — —
NU606 | -—— — — — — — — — —
NU608 | -—— — — — — — — — —
NU6T2 | —— — — — — — — — —
NU614 | —— — — — — — — — —
NU616 | -—— — — — — — — — —
NU618 | -—— — — — — — — — —
NU084 | -—— — — — — — — — —
NU622 | -—— — — — — — — — —
NUO78 | -—— — — — — — — — —
NU626 | -—— — — — — — — — —
NU628 | -—— — — — — — — — —
HRAB) =24 SR8 (AR F&[_NUS51 — — — — — — — — —
RAC801 | —- — — — — — — — —
NU557 | —— — — — — — — — —
NU559 | -—— — — — — — — — —
NU561 — — — — — — — — —
NU563 | -—— — — — — — — — —
NU567 | -—— — — — — — — — —
NU571 — — — — — — — — —
NU573 | -—— — — — — — — — —
EEES NU552 | -—— — — — — — — — —
NU556 | -—— — — — — — — — —
NU558 | -—— — — — — — — — —
NU560 | -—— — — — — — — — —
NU562 | -—— — — — — — — — —
NU564 | -—— — — — — — — — —
NU568 | -—— — — — — — — — —
NU572
RAGC804 -
EH=AE BT RAC831 B
RAC833 | @ilH
RAGC837 | @ilH
RIS RAC832 | RIH
RAC834 | @ilH
RAGC838 | @ilH
HREGRE) =ARE | HRE(IE) K| RAC8T1 | HIH
RAC873 | RIH
RAGC875 | @ilH
RAGC877 | @ilH
RAGC879 | @ilH
RAGC881 | @ilH
AXBEH |RAC872| BIH | 9,600
=]
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5/7-31
STA 4478 447C
X B4 : 2 L
T mmge B = gm | B A gy | BBH
wam TR g W AR gz W AR g W
R CHE) =% (&) | REHR) F|_NUw04 | AIH 35800 12% 33,100 | 19% 31,900 | 22%
NUO78 | BIH 35800 | 12% 33,100 | 19% 31,900 | 22%
PN 8 (FR%) | 948 (BRFA) F| NU0s4 | 3HAT | 30,000 | 12% 28,700 | 16% 28,400 17%
12k =58 (&) [EEES NUO51 | 3HAI [ 23500 15% 22,300 | 19% 21,800 | 21%
NUO053 | 3H®iT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NUO057 | 3H®I | 23,500 | 15% 22300 | 19% 21,800 | 21%
NUO61 | 3EHIT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NU063 | 3HHI | 23,500 | 15% 22300 | 19% 21,800 | 21%
NU065 | 3H®I | 23,500 | 15% 22300 | 19% 21,800 | 21%
%8 (FF) F | _NU050 | 3HBI | 23,500 | 15% 22,300 | 19% 21,800 | 21%
NU052 | 3H®/iT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NUO54 | 3HHiT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NUO56 | 3E®iI | 23,500 | 15% 22300 | 19% 21,800 | 21%
NU060 | 3H/iT | 23,500 | 15% 22300 | 19% 21,800 | 21%
NU062 | 3H®I | 23,500 | 15% 22300 | 19% 21,800 | 21%
RR(CPHE)=hAE |[RRCIE)F| NU071 | 3HAT | 47.200 | 20% 38,300 | 35% 36,300 | 39%
NU073 | 3HHI | 47.200 | 20% 38,300 | 35% 36,300 | 39%
RIS NU078 | 3EHI | 47.200 | 20% 38,300 | 35% 36,300 | 39%
RRCHE) =2d R CHE) ¥| NU021 | 3HBI | 44,000 | 21% 38,000 | 32% 36,000 | 35%
EEE S NU022 | 3EHI | 44,000 | 21% 38,000 | 32% 36,000 | 35%
KB (Bi7E) =R1E XBx (BH78) % | NU083 | 3HAI | 39,000 | 19% 38,100 | 21% 36,100 | 25%
RiES NUO84 | 3HHT | 39,000 | 19% 38,100 | 21% 36,100 | 25%
M= 0B GRE) MRS NUO31 | 3HAI | 31.000 | 24% 30,000 | 26% 28,100 | 31%
P#8 (GBE) ¥ | NU038 | 3HBI | 31,000 | 24% 30,000 | 26% 28,100 | 31%
[BEE (P& =#8 (B & = (P& R _NU251 | 3HAT | 32400 | 16% 30,800 | 20% 30,200 | 22%
NU253 | 3EHI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
NU255 | 3EHI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
NU257 | 3EHI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
Sh#B(FE) F | NU252 | 3HBI | 32400 | 16% 30,800 | 20% 30,200 | 22%
NU254 | 3EHI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
NU256 | 3EHiI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
NU258 | 3EHiI | 32,400 | 16% 30,800 | 20% 30,200 | 22%
el LU =348 (R ER) EIIES NUO13 | 3HAI | 27.000 | 21% 26,000 | 24% 24,000 | 30%
NUOi1 | 3EHT | 27,000 | 21% 26,000 | 24% 24,000 | 30%
h#8 (FE) F | _NU0I4 | 3HBI | 27,000 | 21% 26,000 | 24% 24,000 30%
NUO16 | 3E®I | 27,000 | 21% 26,000 | 24% 24,000 | 30%
RS =R %8 (FF) F | _NU6OT | 3HBEI | 18,600 | 19% 17,000 | 26% 16,300 | 29%
NU603 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU605 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU609 | 3EHiT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU611 | 3E®T | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU613 | 3E®I | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU615 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU619 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU623 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU625 | 3EHiI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
RIS NU600 | 3EHiT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU604 | 3EHiT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU606 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU608 | 3EHil | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU612 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU614 | 3E®T | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU616 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU618 | 3E®iI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NUO84 | 3HHiT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU622 | 3EHI | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU078 | 3HHil | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU626 | 3E®iT | 18,600 | 19% 17,000 [ 26% 16,300 | 29%
NU628 | 3H®I | 18,600  19% 17,000 [ 26% 16,300 | 29%
hRERB) == A8 (ABER) F [ NUS51 | AIH | 14,300 | 18% A 13,100 [ 25% 12,600 | 28%
RAC801 | @iH | 14,300 18% Bl 13,100 [ 25% 12,600 | 28%
NU557 | AiH | 14,300 18% Al 13,100 [ 25% 12,600 | 28%
NU559 | @iH | 14,300 | 18% Al 13,100 [ 25% 12,600 | 28%
NU561 | @iH 14,300 18% Al 13,100 [ 25% 12,600 | 28%
NU563 | AiH | 14,300 | 18% Al 13,100 [ 25% 12,600 | 28%
NU567 | AiH | 14,300 | 18% Al 13,100 [ 25% 12,600 | 28%
NU571 | @iH | 14,300 18% Bl 13,100 [ 25% 12,600 | 28%
NU573 | @iH | 14,300 | 18% Bl 13,100 [ 25% 12,600 | 28%
EEES NU552 | @iH 14,300 18% Bl 13,100 [ 25% 12,600 | 28%
NU556 | @iH | 14,300 | 18% Bl 13,100 [ 25% 12,600 | 28%
NU558 | @iH | 14,300 | 18% Bl 13,100 [ 25% 12,600 | 28%
NU560 | @iH | 14,300 18% Bl 13,100 [ 25% 12,600 | 28%
NU562 | AiH | 14,300 | 18% il 13,100 [ 25% 12,600 | 28%
NU564 | @iH 14,300 18% il 13,100 [ 25% 12,600 | 28%
NU568 | miH | 14,300 | 18% il 13,100 [ 25% 12,600 | 28%
NU572 | @iH | 14,300 | 18% il 13,100 [ 25% 12,600 | 28%
RAC804 | @iH 14,300 18% il 13,100 [ 25% 12,600 | 28%
BEH=R1E EEH RAC831 | AIH | 9,600 19% Al 9500 | 20% 9400 | 21%
RAC833 | @iH | 9,600  19% Al 9,500 | 20% BIE | 9400 | 21%
RAC837 | @iH | 9,600 | 19% il 9,500 | 20% BIE | 9400 | 21%
RIES RAC832 | @iH | 9,600 | 19% Bl 9,500 | 20% BIE | 9400 | 21%
RAC834 | AiH | 9,600  19% il 9,500 | 20% BIE | 9400 | 21%
RAC838 | AiH | 9,600 | 19% il 9,500 | 20% BIE | 9400 | 21%
PR (BE) =AXKE | hFE(FRE) K| RAC8T1 | AITH | 9000 | 24% Al 8800 | 25% BiH | 8600 | 27%
RAC873 | @iH | 9,000 | 24% il 83800 | 25% BIE | 8600 | 27%
RAGC875 | @iH | 9,000 | 24% il 8800 | 25% BIE | 8600 | 27%
RAC877 | ®iH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC879 | @iH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC881 | miH | 9,000  24% Bl 8800 | 25% BIE | 8600 | 27%
AXB% [RAC872| BIH | 9000  24% Al 8800 | 25% BiH | 8600 | 27%
RAC874 | ®iH | 9,000 | 24% il 8800 | 25% BIE | 8600 | 27%
RAC876 | miH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC878 | @iH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC870 | @iH | 9,000 | 24% Bl 8800 | 25% BIE | 8600 | 27%
RAC882 | @iH | 9,000 | 24% il 8800 | 25% BIE | 8600 | 27%
RE=51E hAiER RAC807 | @miH | 9,000  24% Bl 8800  25% BIE | 8600 | 27%
E530E% [ RAC806 | AIH | 9000  24% Bl 8800  25% BIE | 8600 | 27%
PR (RE) =5 IE [ 4R (FRF) | RAC889 | ATH [26.100 | 18% Al 25100 1 21% BIE 24,100 | 24%
53E% [RACS80 | RIH | 26,100 | 18% B 25100 | 21% BIH 24100 | 24%




